Frk 3 0K

EHE SEiERER A8y —BMit=E%
BHR B R g B AR g B HR% g
HAE | s

(ke-CO/BED) | (ke) | ke-CH/BED) | (ko) | (ke-NO/BiD) | (ke)

BYESGEAE 9,427,166 | Kith 0.555 | 5,282,077 - - — —

Ay 29,296 | L 2.321660 | 68,015 - - - -

., B 17,427 L 2.619247 | 34,454 - - - -
5: ATt 73,651 | L 2.489483 | 183,266 0.00035 26|  0.000021 15

g AE 850 | L 2.709630 | 2,303 - - - -
" lakmmrz wre | 258978 ke 3.000287 | 777,007 0.00023 60| 0.0000045 1.2
#MitiH 2 163,553 | m® 2.079660 | 340,135 0.00018 29| 0.0000036 0.6
BEEHEOETHEM 422,383 | kn - EE: LR 8 |mmic&yED 10
EEERKORES 604,510 | m® - - 0.00088 532 0.00016 97
YR 10Y: 38 4,947 | A#E - - 0.55 | 2,646 0.22| 1,058
—H—REERDOBRNE o] t 2,695 0 0.075 0 0.0712 0
REREOWE (B) ol = - - 0.038 0 0.393 0

KOAKOHEAE (3%) 153,541 | m® - - - - - -
ERENEAROFHE ke 6,637,257 3,300 1,169
SR RRREE kg0, - 69,299 362,301
BENRAROBHHE ke-C0, 7,068,857

R 3 1EE
EHE SEiERER A8y —BMit=E%
BHR B R g B HR% g B FR% g
HAE | s

(ke-CO /84D | (ke) | ke-CH/BED) | (ko) | (ke-N0/BiD) | (ke)

BRESGEAE 9,372,753 | Kith 0.555 | 5,201,878 - - — —

Ay 27,036 | L 2.321660 | 62,769 - - - -

., B 17,026 | L 2.619247 | 33,012 - - - -
5: ATt 71,315 | L 2.489483 | 177,450 0.00035 25| 0.000021 15

g AE 1,400 | L 2.709630 | 3,793 - - - -
lakmwrz wre) | 224437 ke 3.000287 | 673,375 0.00023 52| 0.0000045 1.0
it A2 174,531 | m? 2.079660 | 362,965 0.00018 31| 0.0000036 0.6
BEEHEOETHEM 410,238 | kn - EE: LR 8 (@& yED 10
EEERKORES 603,489 | m® - - 0.00088 531 0.00016 97
YR 10Y: 38 5197 | Aff - - 0.55| 2,855 0.22| 1,142
—H—REERDOBRNE o] t 2,695 0 0.075 0 0.0712 0
REREOWE (B) ol = - - 0.038 0 0.393 0

KOAKOHERE (3%5) 145,223 | m? - - - - - -
ERENEAROFHE ke 6,515,243 3,501 1,252
SR RRREE kg0, - 73,524 388,021
BENRAROBHHE ke-C0, 6,976,788
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=t gl
6,637,257

=t 2l
6,515,243

A8y —EE=Ex
3300 1,169
69299 | 362301
7,068,857

A8y —EBE=ER
3501 1,252
73524 | 388021
6,976,788



